Fraction
Spider 1

40

13
24
_|__
1
7
_|__
11

— 3
4
3
i i
1 1
8 i
11 +—
t2a
7
16




Fraction
Spider 1
Answers

13
24

N[ =

15
56

W

11
40

ool W




Fraction
Spider 2

37
60

11
20

Wil

11
30




Fraction
Spider 2
Answers

37
60

34
45

11
20

Wil

23
40

11
30




Fraction
Spider 3

223 — 19
70 21
3
| [T1a i
. 3 2
+ g ; +§
+— 2 +—
T3
117 19
56 28




Fraction
Spider 3
Answers




SRS

Fraction Spider 4

Uil >

31
36

~._ L L~
4
+— — +—
9
N
A1+ — T N

17
13




Fraction Spider 4 Answers

U] b

18

have to be equal

.3 (If fractions are equal)
A
47
AT 5 |1
72 18
8 8 4 7
"5 T35 9 ™9
5 1
s " 24 BN N
T2
31 Fractions don’t
36

NON BN

NI

17
13




Fraction
Spider - Blank




